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Paper |

All questions carry egual marks (2 each), There is no negative marking.

Q. 1. Select the term that will come next in the following series.

11,13,17,23,31.41,53.67,83.7

Ay 1M
By 97
C) 110
Dy 1

(). 2. Sclect the letter-cluster that is related to the third letter cluster in the same way that the

second letter cluster is related to the first letter cluster.
AFKP: BGLO - GLOV : 7

A) HMRW
B) FINRW
€y HKRW
D) 1IMPW

Q. 3 Inlroducing Kavi, Veena said. “She is the sister of the son of the wife of my husband™.

How Is Veena related to Kavi?

A) Daughter
B Sister

) Miother
130 Aunt

0. 4. A cubc coloured pink on all faces is cut into 27 small cubes of gqual sizes.| How many

cubes are painted on one face only?

Al d
I£1 3
M &
RIS

(). 5. Select the option that is refated to the third number in the same way as the sccond number

i related to the first number. 2

#
AY 52
13} Shé
) 676
13) (25



(. 6. Blueberries cost more than strawberries. Blueberries cost less thun raspberries.
Raspberries cost more than strawberries and blueberries. I the first lwo statements are

true, the third statement is

Aj true
H) False
) uneertain
13) not ¢lear

Q. 7. An inlet pipe will fill a tank in 10 minutes. There are fwo outlats that can empty the tank
separately in 12 and |15 minutes respectively, If all the pipes are opened and water staris
filling up the tank, in what time will the tank get filled or emptied?

A) Emptied in 18 minutes
B) Filled in 75 minutes
C) Filled in 36 minutes
D) Emptied in 20 minutes

Q. 8. A man walks 3 km towards west and walks 2 ki to south. Again he turns eust and walks
for 0.3 km. How far is he from the starting point?

Al 2km
13 3 km
Cy32km
12) 2.5 km

0. 9. Ages of two brothers differ by 7 and are in the ratio 3 : 2. What is the sum of their ages?

A) 35
B) 21
C) 42
D) 45

(. 10, The difference between two integers is 5 and their product is 500, Find the numbers.

A) 15,20
B) 25, 20
)21, 26
13) 50, 25

Q. 11 Phe dillerence between the Simple Interest o some prineipal at 8% lor 8 months and
6% for 14 montlis Is Rs.200, What is the principal?

A) Rs. 12800
H) s, 14400
C) Rs. 12000
) Rs.24000



0. 12. A hoat whose speed in still water is 15 km/h goes 30 km downstrenm and comes back
upstream in 4.5 hours. What is the speed of water current?

Ad 10 kinth
B) 3 km/h
C)r 4 km'h
)6 km'h

(), 13. Two numbers are in the ratio | : 4 and their LCM and HCF are 84 and 21. Find the
smaller number.,

A) 108
B) 84
2
(IR

Q. 14. A eycle bought at Rs, 1400 is sold at a loss of 15%. What is the selling price?

AY Rs 10494
13} Rs. 1290
) Rel 190
I3 Rs. 1385

Q. 15, What is the probability of getting a sum 10, when a dic is rolled twice?

A3

13) 5736
Cy 1386
112

Q. 16. Area of a square field is 24200 m*. How long will it take for a person lo cross the field
diggonally at the rate of 4.4 km/h?

A 2.3 minutes
B) 2 minutes
) 3 minutes
) 4 minules

Q. 17. A train 125 m long passes a man, running at 5 km/hr in the same direction in which the
train i< going, in 10 seconds. What is the speed of the train?
343 50 kim'h
B) 34 km/h
) 45 kivh
Dy 55 kim'h



(). 18. The curved surface areas of two cones are in the ratio 2 : | their slant heights are in the
ralio 1 : 2. What is the ratio of their radii?

Ayd |
Byl:4
Cyl:d
N1:3

Q. 19, How many litres of water must be added to 16 litres milk containing 10% water to dilute
it with 20% water?

A) 4 litres
B) 2 litres
)3 livres
Dy 1 Titre

Q. 20. A loss of 25% is Incurred in selling an item for Rs.2400. What should be the selling
price if there should be a profit of 25%?7

v s 2700
13} R 3600
) Rs.A000
171 Rs.4200

(3. 21. Three of the following four letter-clusters are alike in a certain way and one is different.
Pick the odd one oul.

A) CFiL
13) GHU
CF MOOS
D) PSUX

Q.22. Two statements are given followed by three conclusions numbered 1, ITand 111 Assuming
the statements to be true, even if they seem to be at variance with commonly known [facts,
decide which of the conclusions logically follow(s) from the statements.

Statements:

1. Al rulers are machines.
2. Seme machines are costly iteins.

Conclusions:

1. Some rulers are costly items.
1. Some costly items are machines.
L. AdD costly items ure machines,

A} Both conclusions 11 and 1 follow
B) Both conclusions | and 11 follow
C) Only conclusion 11 follows

I3 Oinly conelusion 1 follows



(). 23. Select the option that is related 1o the third letter-cluster in the same way as the second
letier-cluster is related (o the first letter-cluster.

(ECI: AGER  DEFIT : ?

A} CHFI
By CGlLR
(7 BHI'L
Dy BIK

€. 24. Seleet the combination of letters that when sequentially placed in the gaps of the given
leter series will complete the Serics.

b_bab_be_abbb ba_b

A) chbae
[} chabc
) cbbib
1% bebab

€). 25. Which number will replace the question mark (?) in the following serics?

3.7, b6, 35,2153

) 84

13 74

T8

1) A3
(. 26. 21,875 is divided smong A, B and C in such a way thal A's share is half of the combined
share of B and C, and B's shure is one-fourth of the combined share of A and C. By what amount
is L share more than that of A?

A) 2300
) #1225
) 1250
17y 2240

Q. 27. Select the word-pair in which the two words are related in the same way as are the two
words in the following word-pair.

Book @ Thesaurus

Ay Treee - Forest
B) Reptile - Python
) Furniiure @ Wood
2% Tennis: Ball



0. 28. Three of the following four numbers are alike in a certain way and one is difTerent. Pick
the number that is different from the rest,

Ay L2
IRE!
L) 50
D) 30

Q. 29, If BACK is coded as 11312 and CAKE is coded as 51113, then how will MADE be
coded asg?

A) 51413
B) 54113
C) 31145
D) 13145

€. 30 P is the father of O and the grandfather of R, who is the brother of 8. 8's mother. T, is
married to V. T is the sister of Q. 1ow is V relnted 1o P?

A Nephew

H Brother-in-law
L} Son

1M Son-in-law

0. 31 Which number will replace the guestion mark (?) in the following series?
25 11,253,442

M TT
By 51
162
{3) ob
. 32 "Action" is refated 1o '"Reaction” in the same way as "Stimulus' is related o * ",
A) Reception
B Vision

(") Response
3 Feedbuck

76



Q. 33 Two statements are given followed by three conclusions numbered I, 11 and I
Assuming the statements 1o be true, even if they seem to be at variance with commonly known
facts, decide which of the conclusions logically follow(s) from the slatements.

Statements;

1. Some cars are vehicles,
2. Mo vehicle s a fTour=wheeler,

Conclusions:

I. No car is a four-wheeler.
1. Al four-wheelers are cars.
111, Some vehicles are cars.

A) Only conclusions Tand 11 follow
1) All conclusions follow

) Only conclusion 1 follows

13} Only conclusion I lollows

(). 34 Seiect the option that is refated to the third letrer-cluster in the same way as the sceond
letter-cluster 15 related to the frst leter-cluster.

BECD  YVXW - DGEYF . 7

A WERIS

Bwivy

Cy WUTY

M XUWY
Q. 35. Scleetr the word-pair in which the two words are related in the same way as are the two
words in the following word pair.

Heat : Sun

AY Home @ Terraee

0 Ride : Car

) Atmosphere : Humidity
12 Vitirmin © Fruat

(. 36, In a family of cight persons, there are two couples. each having two children. Cand D
are consin brothers. The father of E is marvied to G, who is the aunt of F. F's mother. H, is
marreied o B, the brother of' A, C is the nephew of H. How iy A relmed w 1?2

Ab Unele
B3) Brother
) Nephew
1} Father

Yo



(). 37. Select the set in which the numbers are related in the same way as are the numbers of
the following set,

(15, 22.31)
V) (7,14, 23)
133 (5,11, 20)

) (23, 30, 40
Dy (11,18, 29)

). 38, I'hree of the following four letter-clusters are alike in a certain way and one is different.
Pick the odd one out,

A) Z0OM

[#) PAST

C) BIRD

Dy DECK
). 39, Select the number-pair in which the two numbers are related in the saime way as are the
two numbers of the fallowing number-pair.

281 63

Ay 16: 26
1) 36 TR
C) 12028
12y 48:- 98

Q. 4. T820 is divided among 6 men, § women and 12 boys in such a way that every woman
wety an amount equal o that received by one man and one boy combined and that every man

gets one and a hall times the amount received by a boy. What is the total amount received by 8
women”

Ad 2400
3) 2300
C}T240
D) 3380

Q. 41, [T POSTER is eoded as 392314 and DARK i5 coded as 8647, then how will STROKE
be coded as?

i) 234UT1

C) 493287

1 325417



Q. 42. Sclect the word-pair in which the two words are related in the same way as the two
words in the following word-pair,

Author : Book

A} Spider : Weh

B) Reptile ; Crawl
) Mother ; Son

1y Doetor : Medicine

0. 43, Select the term that will come in the place of 7
.11, 19,31, 17, 67

A4S
B) 51
143
) 47

). 44, Seleet the number pair in which the two numbers are related in the same way as the two
numbers of the pair given below,

356

A BR Y
B} 26: 5
)64 B
Dy 12011

Q. 45. Three of the following four letter-clusters are alike in a certain way and one is ditferent.
Pick the odd one out.

A} BFMQ
13) INPS

C) DGKL
M GKRV

0. 46. Find the next number in the given series.
3,13, 31, 2,9
A
B 63
)G9
) 37
0. 47, Study’ is related 1o "Knowledpe' in the same way that "Work' is related to:

A) Salary

13y Emplovinent
7} Expenience
1) Training

an
N



Q. 48. A contractor planned to finish a work in | 2 days and employed a certain number of men,
However, 6 of them remained abssnt from the very [irst day, The rest could finish the work in
20 days, The number of men originally employed were?

YR
EIRE-]
)20
12y 24
Q. 49. The ratio of the present age of Mitali to that of Shabnam is 4: 7. If the difference between

the present ages of Shabnam and Mitali after § years will be 13 years, then what is the sum of
the present ages of Mitali and Shabnam'!

A 74 vears
B 60 yoears
() 66 years
D) 64 years

Q. 50. Select the combination of letters that when sequentially placed in the gaps of the given
lettz- series will complete the series,

dbh_cod_ba Iud_bac d

A adbed
H adedb
L} bdebd
D dacdb
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Paper 11

All questions carry equal marks (3 each), There is negative marking of | mark for every wrong
answer

Q. 1. Wlho was the first Election Commissioner of India?

A) Sukumar Sen
B) T N Seshan
)y Sunil Arora
Dy M S Gill

(). 2. Wind turbines convert energy inta mechanical power,

A} Chemical

B) MNuclear

L") Gravitational
D) Kinetie

Q. 3. Which of the following Schedules of the Constitution of India contains provision
regarding Anti Defection Act?

A) 1th Schedule
B) 11th Schedule
) 12th Schedule
) 91h Schedule

. 4. 1he chemical formula of gyvpsum is-

A NazCOs 8H-0
B) CaS()4.3H.0
) CaSO4 2H:0
1) Na:COs, 10H-0

Q. 5. Night blindness is caused by deficiency of-

A) Vitamin D
B) Vitamin A
C) Vitamin B
D Vitamin C

Q. 6. Which colour among the seven colours of white light gets least deviated aller dispersion
of light through a glass prism?

A} Orange
B) Violet
) Red

0} Indigo



(). 7. The longest river of peninsular India is

A) Marmada

B) Tapti

() Godavari

12) Mahanadi

(). 8. Which of the following is the number of oscillations per unit fime of the sound wave?

A) Time period
i3 Wavelength
L7} Frequency
D) Amplitude

. 9. Who is the first citizen of India?

A Prime Minister

B Vice-President

) Member of Legislative Assembly
Dy President

Q. 10. Which country was the first to implement Goods and Services Tax (GST)?

A) France
BB) USA

") Germany
1y Canada

Q. 11. Which gas in its solid state is also known as dry lee?

A Nitrogen

3 Carbon dioxide
) Oxygien

13} Hydrogen

(). 12. Name the pass in Uttarakhand which is used by pilgrims to Kailash-Man Sarovar Yatra.

A) Pensi La

B) Lipu Lekh
) Banihal Pass
17 Khardung La

Q. 13, In Indin, the Project Tiger was starfed in

A) 1979
By 1973
) 1992
13 1982



(. 14. Which of the following Articles of the Constitution of [ndia deals with the Uniform Civil
Gode?

A) Article 43
B) Article 44
C) Article 45
D) Anticle 46

Q. 15, Which of the following economic activities employs the maximum number of people in
India?

A) Tourism

B} Manufacturing
) Agriculiuee

17 Mining

Q. 16. The amount of light entering into eye can be controlled and regulated by i

A iris
13) comes
C) pupil
13) retina
Q. 17. Which cells in our body are popularly called "soldiers of the human body"?

A) Cosinophils

1) White blood cells
) Red blood cells
1) Basophils

(). 14 The Nanda Devi Peak is located in

A Sikkim

B) Janumu and Kashmir
Ch Ueearakhand

I3 Assam

Q. 19. Which of the following is a communicable discasc?

A) Muonsles
B) Scurvy
) Asthma
D) Diaberes

Q. 20. Which of the following destroys the ozone layer?

\) Sulphur
13 Carbon
) Chloring
[ Siligon



Q. 21. What is deposited on iron in the process of galvanisation?

A) Copper
B) Zine
C) Tin
D) Aluminium
(). 22, Which of the following merals is the most ductile metal?
A) Tim
B Gold
) Copper
[} Aluminium

0. 23. Which Indian received the Nobel Peace Prize after Mother Teresa?

A) K Radhakrishnan
B Fali Nariman
) I* Sathasivam
17) Kailash Satyvarthi

Q. 24. Majuli, the largest river island in the world is located in

A) Arunachal Pradesh
BB) Assam

) Nagaland

) Uttar Pradesh

(). 25. Rust needs three components (o oceur, i.e.

\j Steel. iron and oxygen

13} Tron, oxygen and moisture

7} lron. mitrogen and moisture

1) Helivm, hydrogen and nitrogen

(). 26. Which of the following sentences are grammatically correct?

i) Afler his surgery. Raja hardly could walk
i) After his surgery, Raja could barely walk.
i) After his surgery, Raja barely could walk.
iv) Adier his surgery, Rajn could hardly walk.

At and iv

By and i

Ciiand iv

D} and ii



Q. 27. While receiving the award, the scientist said, "1 feel vindicated. ™ Which of the following
is closest in meaning to the word *vindicated'?

A) punished

B) substantiated
C) appreciated
D) chastened

(. 28. Select the most approprinte phrase given in the option to complete the meaning of the
sentence. Affer the discussion, Tom said (o me, 'Please revert! 'He expects me o

A retract
B} et back 1o him
C) move i reverse
17} retreat

Q. 29, Choose the most appropriate pair of words from the options given below to complete
the following sentence. She could not the thought of the election to her
hitter rival,

A) bear, loosing
3) bare, lopsing
) bear, losing
D) bare. losing

(). 30. Which of the opliens given below best completes the following sentence? He will feel
much better ifhe

A) will g2t some resl

13) gels some rest

) will be getting some rest
) 15 getting some rest

€Q.31-35 I the following passage some words have been deleted. Fill. in the blanks with the
help of the alternatives given. Select the most appropriate option for each blank.

Seoul's eity government is asking people for help to correct poorly translated street signs - with

prizes on offer for (1) who spot the most errors. It's running (2) two-week
campaign calling on Koreans and forcigners (3) to keep their eyes pecled for (4)
in English. Jupunese and Chinese text. the Korea Times reports. There's a §5) focus on

public transport signs, mups und information signs at historic sites, as part of a drive to improve
the experience of foreign tourists in the South Korean capial,

Q. 31. Seleet the most appropriate option for blank No. 1.

A) this
3 thase
L) that
1) these

sl



(). 32, Select the most appropriate option for blank No. 2.

A one
B) the
C)an
ma
). 33, Select the most appropriate option for blank No. 3.

A same
13) similarly
) alike
) likely

). 34, Seleet the most appropriate option for blank No. 4.

A) puttows
B) blunder
) oversight
D} mistakes

€. 35. Select the most appropriate option for blank No. 5.

A) perticular
B) important
C) signifving
D) meticulous
Q. 36, Select the synonym of the word “COTRCE".

A) enehant
H) pressurize
L) cajole

13) leave

. 37, In the sentence identity the scgment which contains the grammatical error.
“We had 10 decline several orders in case that the production was held up due to labour strike,”

A} in case that

B) the production was held up
L) dlue 1o labour strike

17) We had to deeline

Q. 38. Select the most appropriate word to fill in the blank. “His company has the of
producing the best cricket balls in the country.™

A) opinion
1% brand

L) reputation
13) position



Q. 39. Select the antonym of the word “EXPANSION".

A) inflation

B) avgmentation
) extension

) compression

Q. 40, Select the antonym of the given word “SCARCE",

A) scanty
13) flew

") seldom
3 plentiful

(). 41. Select the wrongly spelt word.

A calander
B} career
C) callous
d) carriage

Q. 42. Select the most appropriate word 1o fill in the blank. *Around sixty bands in colourful
took part in the camival.”

A) clothings
B) costumes
C) apparels
D) dressing

(). 43, Seleet the most appropriate option 1o substitute the underlined segment in the given
senlence. H no substitution is reguired. select No improvement.

“If vou park vour ¢ar here. the traffic police has fined vou.™

A) will fine vou

B) MNe improvement
C) fine you

) Nined vou

Q. 44, Select the most appropriate meaning of the given idiom. “To play ducks and drakes”

A} o use recklessly
B) 10 change places
) to be friendly
D) to act cleverly

(). 45. Select the correct active form of the given sentence.
“Every passing vehicle was being thoroughly checked by the guards.”

\) The puards were thoroughly checking every passing vehicle.

B) T'he guards have thoroughly checked every pussing vehicle.

U Every pussing vehicle were thoroughly checking the guards.

13) The guards have been thoroughly checking every passing vehicle.

i o



Q. 46. Select the wrongly speit word.

A) exploite
13) explicit
C) expire

12y explude

0). 47. Seleet the svnonym of the word *CHRONIC",

A) ordinary
H) persistent
C) comimon
) temporary

{). 48, Sclect the most appropriate meaning of the given idiom. “At daggers drawn™.

A) deceiving somebody

3} without hope

) fricndly with each other
1 batterly hostile

Q. 49, Select the correct passive form of the given sentence.
“Dio not buy medicines without the doctor's prescription.”

A} Medicines should not be bought without the doctor's prescription
B) Medicines need not be bought without the doctor's prescription
) Medicines might not be bought without the doctor's prescription
12} Medicines could not be hought without the doctor's prescription

0. 50, In the senence identify the segment which contains grammatical error,
“She got two quick promotions in arder that she has good communication skills.”

A) two guick promotions

13} she has good commumication skills
L") in order that

1) Bhe got
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Q.1. A product is said to have the quality when -

A. Its shape and dimensions are within the limits
B. It appears to be very good
C. Itis fit for use

D. The choice of material is right

Q.1. U IeTg @1 quras & g wer sivar 2 o -

A, THS! HTHR AT s A i
B. U8 98d 39 Yl B 2 |
C. E3uamM & feu e & |

D. Tl 1 97E WE R |

Q.2. A nut which is used to tight the blade in hacksaw frame is —

A. Cap Nut

B. Ring Nul
C. Wing Nut
B, Thumb Nut

Q.2. §HH1 bW ¥ =18 B HuA & g gudh frmr s aren ne e ® -

A. U T
B, fme
c. fdn=e
D, Y& Fe

Q.3. which one of the following is Foundation Bolt -

A. Rag Bolt

B. Lewis Bolt

C. Hook Balt

0. All of the above

a3 FofafEe 7 8 s EesTa aTwe -

A. T dTeE

B. T4 e
C. §® dlee
D. Fuiad g4




Q.4. Which one of the following is used to bend the corners of the sheet -

A. Ball pin hammer

B. Cross pin hammer
C. Straight pin hammer
D. None of the above

Q.4, T § FweT SuahT 2t F 1A o1 Hie % forg fmar s € -

A. & i R
B. &1 09 ¥R
c. 9 R |
D. IWIad # | SIS 78!

Q.5. On which part of the Vernier height gauge, are the main scale division
graduated—

A. Vernier plate
B. Beam

C. Fine adjusting unit
D. Base

Q.5. affaR B15E AW & fFe T R A9 Sa Bdem s g § -

A. R @E

B. &H

C. wEE iSelEn e
D. IR (&%)

Q.6. Surface plate is usually made of grey cast iron because it provides -

A. Non wearing plate
B. Very hard plate

C. Easy lo cast plate
D. Lubrication

Q.6, TTY We ﬂmﬁtmﬁmmﬁﬂﬁ#ﬁmw;ﬁ?mﬁ%.

A, A a3 e

B. a6 W

C. e B GHE 8 HRE FET
D. gahH




Q.7.

QoW

Q.7.

oo ® P

Which one of the following are used to true and dress an abrasive grinding
wheel on a tool & General utility grinder-

Diamond tool wheel dresser

Abrasive stick wheel dressing tool
Huntington wheel dresser and abrasive wheel dresser

All of the above

Fraffaa & ) war oty aref e B) W ga Ud wed A i Wi uw g
vd R H & Rre gua & srar S @ 2

SEHS O =TT §W
S e ol B
ﬁhﬁém@ngz§%¢m$n
T & HH

Q.8. Pitch of 3 start thread is equal to lead divided by -

cow»

TR

0.8, 3 TS irs 2 firg die & awrar o3 & e Prafaf@a & ary Reafie s e

ocom>

0.9, What type of thread are suitable for lead screw of machine tools -

A

A
O

_ British association thread

Whitworth screw thread
Acme threads
Square threads

0.0, Tt Fow & dis wp ® g 19 W 9 SugE ¥ -

fafeg usifoem U3

B, fareaius

C

uan 4g

D. TR YUS



Q.10. Grade of Hacksaw blade for cutting soft metals like Brass and Copper is -

A, Coarse
B. Medium
C, Fine

D. Very fine

Q.10. 2o T @1 3T Rrae swaaTa Tww defvaes, o9 diad UE aid $ Bied @ [
feorure, T8 -

A @

B, #HifsaH
C. BIE

D. ST

Q.11. Main alloying elements of stainless Steel are -

Chromium and nickel
Nickel and vanadium
. Nickel and lungsten.
. Chromium & Tungsten

Q. BTN Ra S qE dad e & -

wiHgH R Ad
P& ok aafemm
et SiN drRe

Hifay 3R 2

o0 m>

o0 me

Q.12. ‘.“fhich one of the following sheet sizes (Gauge No.) indicates the thinnest sheet
size- ;

15

10

8

Al of the-above = A

oom>

Q.12 Frefeifem dfie 1ot A f St w (e wem e vad Wie smer o) £ ae

15
10
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Q.13. Which Is not the use of a try square -

A. Measuring right angle

B. Checking squareness

C. Marking straight lines at 90" against an edge
D. Settings workpiece at 90°

Q.13. T ZTE WIAY BT SUGHT A § -

A, G& Fror ) T

B. FUiIGl B g BT

¢. T e & ary @il Tenet @ oo ol R Ffea s
D, FHUME H! 90° YT UE T

Q.14. Clearance between mating part is measured by —

A. Caliper gauge
B. Feeler gauge
C. "Go" gauge
D. Dial gauge

Q.14. af urdm % i @ Fera v e gre Hdt S @ -
A, SR S
B. WBiek 79
C. "Mt
D. SHE TS
Q.15. Fixture is a production device which —

A. Halds the workpiece

o L_.—I s
'l||_ 1.1'__'
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Q.21.

A.

B.
of

Oy CONINUE PIUY YaUGE

Q.21

_which one of the following is used on a Lathe to give depth of cut -

Cross slide

Top slide
Compound slide
None of the above

 Prafefae & @ s @ug 9 W se 3 e & F e ggi fEar s -

Wiy WEs
o WSS

FUTE WES
T | TS oft e

. Name the Spanner which is Hexagonal in cross—-section & end is bend at 90°-

Monkey Wrench
T-Socket Wrench
Allen Key

. None of the above.

. EY (9T T A8 qarg e srer aewfta glar @ siv R 90° v qeT gl

3.

, Hel R=

d-wiee fa

e Fl
T A PR el

Plug gauge which has its "Go" and “No Go" sizes on the same end is known
as—

Single ended plug gauge
Double ended plug gauge
Progressive plug gauge

it s it 3R A i wee T @ o W e § w1 P s @ s o
-

A. fim o e sl

, SO U WA

c, wiritiRva W i
0. @iy E i

I | : NI Yy aim—w = CLikd e



Q.22. which among the following is the correct statement?

A clearance it always provides interference

_ An interference fit always provides clearance _

 An interference fit may sometime provide clearance and sometime interference
A transition fit may sometime provide clearance and sometime interference

a2z PufafEeddsR T ad suA ¢ -

A, U5 FAE fre wHY SeTh WaE e g |

B TE SEYhEE T SHEN FeaE VaE el € |

C. UF ZeUhTE T AR AN AR F7F aN S e B B

D, e TSR mﬁémﬁﬂﬁﬂmﬁmmmmmﬁl

Q.23. which one of the following is permanent fastener?

DooP

. Welding

. Soldering
. Nut-bolt

. All of these

Q.23. P & A o= w1 Rl BRER € 2
I

Hresf

2. diee

Q.24. which nut is used in split pin locking?

m»

oo

cowmp

Wing nut
Castle nut
Flange nut
None of these

DOm>

0.24. fitere R aiffd & e 1€ 1 SUTRT (41 STal 82

A AT
B ¥ A
C. Y JE
D. &7 & FIE 78




Q.25. Purpose of Tempering is -

A to Increase the ductility

B. toincrease the hardness
C. to increase the toughness
D, all of the above

Q.25. THfT T IR -

A A g1 & e
B. TG a| g & oy

C. THY S & o
D. JurE Tft

Q.26. Percentage of Carbon in Mild steel is —

A. 0.25%
B. 0.0025%
. 0.5%

. 0.32%

Q.26. HTEES We | S @1 ufowrd 8 -

A 0.25%
B. 0.0025%
C. 0.5%

D. 0.32%

ol

Q.27. Tab Washers are used for -

A, Locking the Nut

B, To maintain dimensional accuracy
C. For structural assemblies

0. None of the above

Q.27. a0 ATYR ST SYANT (a1 ST @ -

. Hje @) o B & o

aapdt wélma &g vaA & fag
e Sy & fere
. gudiea 7 QB @




Q.28. Bench vice has following type of threads-

A, V- Thread

B. Buttress Thread
C, Acme thread

D. Square Thread

a2 Ao A AU TSR F IS AR E -

A, %—33;}3
B.

c. v 93
D. WAL IS

Q.29. A job is to be made by using the Chiesel, File & Scrapper, in which sequence
the tools will be used-

A. Chiesel, Scrapper & File
B. File, Chiesel & Scrapper
C. Chiesel, File & Scrapper
D. None of the above

Q.30. which taper is used on spindle nose of the lathe headstock —

A Jarno laper

R, Brown & Sharp Taper
C.PinTaper
D. Morse Taper

Q.30 WTE Wit & devets & fRisE A w e R av 1 gy fay aw e -

A GEITWR
B. @13 gd ¥4 2w
c. AW
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0.31. Length of hacksaw blade is measured from —

A. One end of the toothed porlion to the other end

8. Centre of one pin hole to the centre of other pin hole
C. End to end of blade

D. End of one hole to the end of the other pin hole

Q.31. B &S P! AATE AU ST € -

A EideR TR FTe R s s

B. % 07 g1 & g o 3 (U 810 & #8 0
C. we & AR d R e

D. UF U 710 & . @ 3 fom g & et @

Q.32. Safe edge of file is used to -

A. Finish flat surfaces only
B. Cul melal very quickly

C. Protect the adjacent sides
D. Give best finishing

Q.52. Wrge & R e @1 gudh fewd forg fear smar 22
iz wag @91 & e
HIg &1 Tga Sieal HIeA & (01
ﬁumﬂaﬁmﬂs e
fsf3fm 27 & fau

Q.33. @ 6HT hole is to be reamed in a steel workpiece. What size of drill will be
required?

cComp

55 mm
5.8 mm
6.0 mm
. B2 mm

@ >

55
e

Qs Wiaabdiad o6y O A Rearomn ], e ¥ Ry srer @ smaxuea
it

A, 5.5 o),
B, 58 fiyd,
C. 6.0 Al
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Q.34, Spot-facing is done to -

A. Give fine finish ta the drilled hole.
B. Make surface flat so that bolt head can take proper seat on the surface.

C. Enlarge the existing hole.
D. Deburr the mouth of the drilled hole,

Q.34, Wic-wiy fw fore fFarsman € 2

A. Tea oo o &1 e feRw 23 & o |

B, T8 & WU I & fow, A dieces wag W I Hie o 9@ |
C. Hig B¢ @i 981 94 & oY |

D. e fPume ¥ & Bl @t word & ey

Q.35. For tapping with M5 tap, what size drill will you use?

Ay 4.5 mm
B. 3.8 mm
C. 4.0mm
0 3.5 mm

.35, M5 20 & W1y 20 B & forg, oy e omeR &1 (e &1 SuaiT s i?

45 @A
3t
4.0 A
R

O O W I

Q.36. Point angle of twist drill depends upon the -

Cutting speed

. Type of drilling machine
. Size of the drill

. Matenal to be drilled

ooO@ P

a.36. fgwe @ @ fag @t few w Pk s & -
A. @TEH @i g




Q.37.

A
B.

C.
D.

Q.37.

ocoE»

Q.38.

Q.39.

Point angle of twist drill for general purposes is -

135°
60"
118°
90"

T S & R e Ry w1 Rig wior 2 -

. 135°
. 60°

118

. 80°

A hole of 10 mm diameter is to be finished with a hand reamer. Hole size

required for reaming should be -

975 mm

9.00 mm

g9.25mm

a 50 mm

10 fraf m%w%ﬁﬂmaﬁmﬂﬁﬁmwi | i & forg
STITAP VG BT HY

a.75 fr st

9.00 fr

g 25 s
a 50 B

" A dimension is stated as 25 +0.02 mm in a drawing. What is the tolerance?

25,00 mm

v 0.02 mm

.[]_[}E..n“:n — —
0.64 mm

o v (9Tg) # 25 £ 0.02 iy 1), a1 SiTaTe ST T @ e W HiE g -




Q.40. A pin is fitted in a hole. The tolerance zone of the pin Is entirely above that of
hole. The fit obtained will be-

Clearance fit
Transitian fit
Interference fit
Neone of the above

amgﬁﬁmﬁhmmmm%ﬁﬁmﬁmﬂﬁmmﬂﬁﬁmwm&nm

S0y

A, SitoE fire
B f;lﬁrmﬁw

D rm’ﬁﬂﬂ%ﬂﬂ'ﬁﬂ‘éf

Q.41. Which of the following instruments is used for checking flatness and
Squareness of a surface?

Try square
Vernier height gauge

. Slip gauge
Bevel| gauge

Q.41. Fry 7 & fare SueTul &1 UG Wag P "redl ¥ avnterivar @t wiw & fog v
ST 82

oo@>

oy WHTET
AR grge W
EGERIT

dae 19

s om>

Q.42. An outside micrometer has a negative error. The correct reading can be taken
by-

Adding the negative error in the aclual reading

Deducting the negative error from the actual reading
Adding twice the negative etror in the actual reading
Deducting twice the negative errar from the actual reading

A,
B.
C.
D.




0.42. T arEd wEwET § us AN I 2 a8 ffEn ¥ g Pefaf@a d 8 s -
AT BT -

arfa® AfEn & FeRTES 3 SisA |
A ST A FeRIGIE ¢ @) @H S |

A AT H 8 IR TPRED Fe Wl |
Frafaes HfE ¥ &1 R THRED qE B HH S |

oow>
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L
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. Lock nut in the micrometer is provided to -

Caontrol the movement of the spindle

Measure the workpiece accurately

Lock the micrometer when it is not in use

Lock the reading after setling it over the workpiece

 ATSSIHTeR | Wi e P Were W € -

Rigs @t e & P 9 $ ke

HUTH &1 we! adie | HYA @ o |

S UE YA H A 81 4] D@ Hes $l 9l @i o o |

gHO T FHUR O B & aie ST Bl i S @ U |

. Least count of the Vernier caliper is equal to -

0oor

2
L
ad

. Value of 1 V.S.D - value of 1 M.S.D.
Value of 1 M.S.D. +valueof 1 V.S.D
_ Value of 2 M.S.D - value of 1 V.S.D.
Value of 1 M.S.D - value of 1 V.5.D.

gffav HefiuT T ERe FTEC G BT 8 -

2
cowp» Roowm>

°
S

>

1%.8.D @1 HMF - 1 MS.D, &1 HIF|
{ M.S.DHTEHE + 1V.SD. S HH|
2 M.S.D HIHE - 1 V.8.D. @1 HiH1l
1 M.S.D &1 H A - 1 V.5.0. F1HA|

o0 o

o
n
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. Movable jaw of a bench vice Is not moving evel though the spindie is turned. it
is due to the reason that -

A. Spindle is not funclioning

B. Spindie pin Is broken

C. Fixed and movable jaws are over tight
D. Threads on spindle are slightly worn out




Qﬁjﬁ%ﬂﬁﬂﬂﬂﬁﬂﬂﬂmﬁﬁﬁ*?ﬂﬂﬂmﬁﬂﬂﬁﬂﬁ@E@ﬁmm

Q.46.

Dowm>

Cow>

8-
ST T 6l PY T ¢ |

fisa g TR |
Wm%mmmﬁ?ﬁﬂﬁl
Rizgm iz a2 AA e |

Which one of the following instruments is used to measure accurately the angle
of taper -

Bevel gauge
Bevel protractor
Vemier bevel protractor

. Taper gauge

a.u.ﬁvﬂﬁaﬂqmmmiwmm’mﬂwm#mﬁ%ﬁmaﬂﬁﬂﬁmm% ?

Q.47

00®>

Q.48,

16

. Pin vice is used for -

Holding the studs

Holding the pins:

Fixing the pins

Holding odd-shaped small workpieces

firey arg &1 IUa T I € -

com>

¥E UPpe & e

i &) TP & o

it @1 e @A o fog

i @R @ B ghUIY UHeA & Y =

Which one of the following metals does not require any coolant during Drilling?

Castiron
Aluminum
Steel
Copper
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. Cutting action of a File depends upon -

The kind of cul and spacing of teeth
Arrangement of teeth on the file
Size and shape of the file

All of the above

Q49 P prm N FRT Ak sl 2 -

HE H WHR R gl & i 3 gd
FIad O gidl &1 awy

. WTET @] SR ST 7Y

- Quirag gt

AIkD 20

00>

Q.50. Which one among the following materials can be cut with a rasp cut file?

Bronze
Cast iron
Steel

0. Wood

.50 Fra & & fasw |t grefae) &t YR e WIew & WY H1eT S Wad 27

om
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Answer Key Paper 1

| A 26 |C
2 A 27 |B
3 lc 28 | B
4 D 29 |B
15 D 3 (D
| 6 A il A
7 D 32 |C
8 e 33 |C
9 A 34 B
10 B 5 D
1 1 36 | A
12 B 37 |A
13 |C 38 A
14 |C 39 |A
15 |D 40 1A
16 |C 4 |B
17 [A 420 | A
I8 |A 43 (D
19 |B 44 |D
20 |C 45 |C
2INC 46 1D
2 e 47 |C
23 e 48 [A
24 | C 49 | C
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Answer Key Paper II

1 A % |C
2 D 27 |B
i 1A 22 |B
4 C 2 |C
3 B i |B
] C 31 |B
7 C 32 |D
8 C 33 |C
a D 4 |D
10 |A 35 |A
1t |B 36 | B
iz |B 37 |A
13 B 38 1<
14 |B 2 |D
15 |C 40 |D
i6 |C 41 |A
17 |B 42 |B
18 |C 43 |A
9 A 44 |A
20 |C 45 A
21 |[B 46 A
2 |B 47 |B
23.1D 48 |D
24 |B 49 A
25 |IB 50 |C
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